
  
JUDGMENT at BRIDGE 

 
     AJ94 
     9        
     10876 
     AJ102 
Q7532         K86         DEALER – 1 
Heart 
542     2 Hearts       AJ876 
43         K52 
K85         9 
     10 
     KQ103     PASS 
     AQJ9 
     Q763 
 
1 Heart – Pass – 2 Hearts – your bid????? 

     AK752 
     AJ5            DEALER – 1 Spade 
     4 
     AQ104 
8         Q109 
Q1083         962           PASS 
KQJ72         A10863 
652         K7 
 
     J643 
     K74 
     95   your bid????? 
     J983 
 
Partner opens 1 spade, East passes, your bid??????? 

     93 
     1065        3 NT 
     AKQ42 
     742 
KJ87542        Q         Pass 
9       3 Spades       J87432 
J         1065 
AQ93     A106    J106 
     AKQ      DEALER – 1 NT 
     9873 
     K85 
7 of spades lead, play the 3, East plays the Q, plan your play??? 
 
 



     754           1 Diamond 
     73              3 NT 
     AK10962 
     62 
Q102         J93     PASS 
KQJ106        854    PASS 
J5     PASS        Q73 
1085         Pass        QJ97 
 
     AK86 
     A92        DEALER – 1 Club 
     84                             2 NT 
     AK43 
 
K of hearts lead, declarer holds up and wins the 3rd heart, declarer leads 8 of 
diamonds?? 

 
     K42      3 SPADES 
     K65 
     962 
     A942 
1087     PASS        95 
QJ1032        A97       PASS 
Q5         K743 
J63         Q1087 
 
     AQJ63 
     84          DEALER – 1 SPADE 
     AJ108                      4 SPADES 
     K5 
 
Q of hearts lead, you ruff the 3rd heart, pull 3 rounds of trump, ending in the dummy. 
You must now tackle the diamond suit, how????? 

 
If partner leads a low card in one suit, gets in and shifts to a low card (showing strength) 
in another, partner wants a return in the second suit.  If partner shifts to a high card in 
the second suit, (top of nothing perhaps), partner asks for a return in the first suit. 
 
One doesn’t lead the same against 3NT as against 6 NT.  Against 6NT avoid leading from 
an honor unless you have a sequence. 
 
When returning the suit partner has led, with 2 cards remaining return the higher, 
with three cards remaining, return the lowest. 


